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new
Pencil

new
Typewritten Text
Operators' wages (7,380/8 x200)                                           1,84,500
Production bonus (10% on wages)                                        18,450

new
Typewritten Text
Repair and maintenance {(5% × ` 64,00,000)/2}                 1,60,000

new
Pencil

new
Typewritten Text
Depreciation {(` 64,00,000 × 10%)/2}       3,20,000

new
Pencil

new
Typewritten Text
Total Overheads for 6 months 17,18,450
Comprehensive Machine Hour Rate = ` 17,18,450/7,200 hours ` 238.67

new
Typewritten Text
no marks 

new
Typewritten Text
You are failed to solve the required parts of the question 

new
Typewritten Text
Total marks 30

new
Typewritten Text
Overall attempt is not good and needs to improve. You need to work on basic concepts of process, joint costing. You do more practice and avoid the mistakes and read the question carefully. Always set the time for doing a particular question. This will help in improving your speed. Focus on your problem areas. Your main focus should be the concepts which you find difficult and the questions with different points but don't forget to revise the basic concepts. 

MY PC
Typewritten Text
basic approach is wrong 

MY PC
Typewritten Text
required points are not considered

MY PC
Typewritten Text
this is important Q from exam point of view
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new
Pencil

new
Pencil

new
Pencil

new
Typewritten Text
marks 3

new
Typewritten Text
Carefully read and understand the question before attempting		

MY PC
Typewritten Text
due to one wrong element, entire calculation goes wrong 

MY PC
Pencil

MY PC
Typewritten Text
these are scoring topics
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new
Pencil

new
Typewritten Text

52,36,000

new
Typewritten Text







new
Typewritten Text
91,63,000


new
Typewritten Text
26,18,000

new
Typewritten Text
91,63,000

MY PC
Typewritten Text
question is not clear

MY PC
Typewritten Text
steps are accurate but setup cost wrongly considered

MY PC
Typewritten Text
condition on cost drivers is ignored
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new
Pencil

new
Typewritten Text
Kilowatt- hour (kWh)

new
Pencil

new
Typewritten Text
Per ticket

new
Pencil

new
Typewritten Text
Per item, per meal etc.

new
Pencil

new
Typewritten Text
marks 2

new
Pencil

new
Typewritten Text
 Other capital losses i.e., loss by fire not covered by insurance etc.
 Losses on the sales of fixed assets and investments

new
Pencil

new
Typewritten Text
vi) Expenses of the company’s share transfer office, if any.

new
Typewritten Text
marks 3

MY PC
Typewritten Text
answer completely 
especially in short questions 

MY PC
Typewritten Text
here you miss the catch point 
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new
Pencil

new
Typewritten Text
Number of tests

new
Pencil

new
Typewritten Text
Machine hours

new
Pencil

new
Typewritten Text
marks 4

new
Pencil

new
Typewritten Text
Cash Discount Cash discount is not deducted from the purchase price. It is
treated as interest and finance charges. It is ignored.

new
Typewritten Text
marks 4

MY PC
Typewritten Text
include accurate keywords

MY PC
Typewritten Text
conceptually incorrect


/Pnzg M,
/’/—] _‘_:—_::_‘_ - late
C

/;/T‘?; l|r ] \

Lenaly (5 owQm J vy

/,,k \LJ__LZ__DGF __Q( P_U"i ..""“'ﬂ" c"" Ut tehun %
ary  (Vlgy e‘of \G\N

“Se—

/"“—_ — df?
,,,'*‘— : - G | .
/:H._'_Pt‘nc.lky ¢y nok mciudw meterty. o -
. — -
e | Twsveence Q""Drgg,*g highlight keywords —r
7 Lnsveance charyts ¢ gmowmt pacd fem (n ocder O ——

P"Q"tti-(n? QQW\ ) 0ss (‘}; (F(r(-'l-h((‘"'(,‘—(_./ B

4 TSV comct Charglts ace Cﬂc\J_Mé cost o(‘ makeccal  pmehs -~

¢ (ommcssiow P‘“'J = )
| . /Afjtf to boest -

4 (O mm( 55w s 'H"(‘ QMDW[‘ PatJ I‘O Sal tsmem

be Seles oF _P'OC}"“"-

—4 e ———— |
(J s Lﬂ('Uf)rc} 1 CUSI’IHVIO‘YX/&J(" ynde o B

h_j___Jr (o mm['SSFmM '
| - OveTads. —_—



new
Pencil

MY PC
Typewritten Text
highlight keywords
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new
Pencil

new
Typewritten Text
Wages for October 2022
3,000
(` 100 x
30 days)
3,600
(` 120 x
30 days)
3,900
(` 130 x
30 days)
2,500

new
Typewritten Text
Less: Employee Contribution
to PF @ 8%
Less: Employee Contribution
to ESI @ 4%
240
120
288
144
312
156
200
100

new
Typewritten Text
Net Wages Receivable                                       2,640                      3,168              3,432             2,200

new
Typewritten Text
                                  

new
Pencil

new
Typewritten Text
Total Wages for the month 13,000
Employer’s Contribution to Provident Fund @8% of ` 13,000
Add: Employee’s Contribution to Provident Fund @8% of ` 13,000
1,040
1,040
Total amount of Provident Fund required to be deposited by employer 2,080

new
Pencil

new
Typewritten Text
Total Wages for the month 13,000
Employer’s Contribution to ESI @5% of ` 13,000
Add: Employee’s Contribution to ESI @4% of ` 13,000
650
520
Total amount of ESI required to be deposited by employer 1,170

new
Typewritten Text
no marks 

MY PC
Typewritten Text
accurate format is missing

MY PC
Typewritten Text
starting approach is wrong 

MY PC
Typewritten Text
%ages are wrongly considered in total part, read point 4 of the question carefully 
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new
Pencil

new
Typewritten Text
Total Material Cost
Total Labour Cost
Total Overheads (Equal to Labour Cost)
20,000
14,690
14,690
Total Cost 49,380

new
Pencil

new
Typewritten Text
Before answering any question you need to make a rough solution in your mind and then go accordingly. No need to make hurry in practical papers as one mistake may spoil your entire efforts.
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new
Pencil

new
Typewritten Text
Total Variable cost                                                                       7,02,00,000     8,77,50,000

new
Typewritten Text

Contribution                                                                      3,48,00,000       4,35,00,000

new
Pencil

new
Typewritten Text
Fixed costs:
Production overheads                   25,00,000 25,00,000
Administrative overheads              60,00,000 60,00,000
Selling and distribution overheads 5,00,000 5,00,000
Total Fixed cost                           90,00,000 90,00,000
Profit                                           2,58,00,000 3,45,00,000

new
Typewritten Text
P/V Ratio = (` 3,48,00,000/` 10,50,00,000) x 100 = 33.143%

new
Typewritten Text
P/V Ratio = (` 4,35,00,000/` 13,12,50,000) x 100 = 33.143%

new
Typewritten Text
marks 2

new
Typewritten Text
Carefully read and understand the question before attempting		

MY PC
Typewritten Text
consider each point in these type of questions

MY PC
Typewritten Text
sales wrongly taken
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new
Pencil

new
Typewritten Text
marks 5

new
Pencil

new
Typewritten Text
The value of the contract would be increased by 25% of the price increased beyond 5%.
Price increased beyond 5% = ` (3,62,500 – 2,90,000) – 5% of ` 2,90,000
= ` 72,500 – ` 14,500 = ` 58,000
Value of contract would be increased by 25% of ` 58,000 = ` 14,500
Therefore, the revised contract value = ` 14,50,000 + ` 14,500 = ` 14,64,500
Calculation of the Value of work certified after taking the effect of escalation clause:
= Revised contract value × Percentage of work certified
= ` 14,64,500 × 40% = ` 5,85,800

new
Typewritten Text
no marks 

MY PC
Typewritten Text
short conclusion is missing 

MY PC
Typewritten Text
analysis is important 

MY PC
Typewritten Text
conceptually wrong

MY PC
Typewritten Text
read question carefully 
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new
Pencil

new
Pencil

new
Typewritten Text
marks 2

new
Typewritten Text
incomplete !!!!!!!!
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Typewritten Text
start answering from point 5 of the question 
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new
Pencil

new
Typewritten Text
Abnormal Loss
(Bal. fig.) 8,000

new
Typewritten Text
8,000

new
Typewritten Text
8,000

new
Pencil

new
Typewritten Text
72,000

new
Typewritten Text
63,000

new
Typewritten Text
60,000

new
Pencil

new
Typewritten Text
no marks 
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Typewritten Text
abnormal loss part need to practice again


{ Page No. ﬁ
Date
| ted

— I marks5 =
R | B Solukon 3(6) | i
I L Shehment 9{‘ (ot Sweek O —e e
o _ParKcdars o _ Pecon (1) Amonkt]  Amoni(d)
e \_\dr:'t_g_'_io"'s (thuhut'l___ — - ) ) o . — S
thnt'-_wx_'ﬂﬂ Sk 0“ 1N e \V}r,\-g-.u'r.'l_ﬁ_ o SJQO!OOU

~ Add: Purchase (balancing figure) : 20,50,000
W00t X Row MateGag LI1s0000

= (1ostng Stod\s b(' donceptus

(cet LoSour )
o (ot | A 05000
Read question twice before putting tl\ve/{aluaﬁb
1 NJd - Fackory Overheeds 6,00000

MWolts Cost [‘)rosj 3 , 000

" : cost of sales part not accukate

AJd-- Orwnt‘m}. Sholc ol w 1P (,0000 &
A\ >4

.'L\‘SS:-CICN‘ng Stoaded Wil

/%0.00U)
(bg\-& Ve Woddes (ol \ / 3379600
\Vd

LAY Adm(v\l'ghod—[v{' Ovechends

.

Lsgoooy
; ((‘1‘-\}' 0(‘ PrOC)U(Lt‘vd 2 5 20,000
chenide : ) 45,00,000
L::;Mg SE&ts pygiiahle for ElR (v d Qo ds \/10,5q,mqmo
i Lesge () 05y Sko(\(ok Fiatged Goods (usYocy

v

i

;(o;},\— & Soods Sold)
|

GCgoo # 3459000
: | Add- - clléng Overwgee, SO0 \ 00 1,50000

H A - ;
Jd = Probet \ /'_'_3£°‘°°0~

Selpe

S0,00000

——

P"‘{‘ tl"";. - 1_,6')._

s T

L



new
Pencil

new
Typewritten Text
Add: Purchases (balancing figure)                               20,50,000

new
Pencil

new
Typewritten Text
19,20,000

new
Pencil

new
Typewritten Text
Cost of Goods available for sale                                                                                       45,00,000
Less: Closing Stock of finished goods                                                                           10,50,000

new
Typewritten Text
marks 5

new
Typewritten Text
Read question twice before putting the values.

MY PC
Typewritten Text
conceptually wrong

MY PC
Typewritten Text
cost of sales part not accurate 


